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64 1 Pt 7L O #F 1EHY
3 FERARIE BHO 2 1EHY
43I IO < TEHY
3 HFEARGmDE 7F O fie TEHY
3 FERARIE B O TEHY
4 4 BF O TEHY
3 HFEARGmDE fE O R TEHY
5 FEARGRIE B O =2 1EHY
3 FERARIE RO M, TEHY
5 FEARYmIE BmOoOr TEHY
4 5E 4 3 PR O Hif 1EHY
5 FEARGRIE ¥H 0% TEHY
6 42 Pt B O %= TEHY
5 FEARYmIE 50z TERY
3 FERARIE = 0 TEHY
5 HFERYmHE HmOR TEHY
3 FERAmIE 50 %t TERY
4 4B 5 O i 1EHY
3 HERARIE FOZE TEHY
4 4 T B O Fr TEHY
3 FERYmIE B O Hit 1EHY
5 FEARGRIT F O TEHY
41 3E &k O T TEHY
4 F 2 E HOfE TEHY
6 4 3 BF INOF/N TEHY
441 3E 3O % TEHY
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6 4 4 Bt a#f O % 1EHY
5 FEARGmHL B O & 1EHY
42 B A O 1EHY
5 FERGwIL FOFE 1EHY
5 FEARGmHL = O3 1EHY
3 FEARGmHL 210 4 1EHY
435 FO0FE 1EHY
3 FEARGmIL B O 47 1EHY
4 AR &= O a3k 1EHY
5 FEARGmHL 20 [ 1EHY
DUT Rt E
3 FEARGmHL 0 & fHiEY
6 F 4 Pt i O /& fAEY
41 HE Z O Hi A HL
4B O TE fHiEY
443 5E ANOR- {FHY
3 ARG O & A HL
44 HE 20~ A HL
5 FERYRHL =087 {FHY
3 FEARGRHL 0% {FHY
3 ARG tRO&E A HL
41 HE Bk O gk A HL




